
1 NAFTA expansion was slowed by:

 
(A) Organized labour concerns about jobs moving to Mexico

(B) US agricultural protectionism

(C) Increased US investment in Latin America made region 
wary

(D
)

Latin American concerns about political integration 
following economic integration with US

Answer:
(A
)

Organized labour concerns about jobs moving to 
Mexico

2 European unity in the 2000s was challenged by: 

 
(A) Conflict over the best interest rates to help the economy

(B) Higher debt loads of Southern States

(C) Different cultural approaches to debt

(D
)

All of the above

Answer:
(D
)

All of the above

3 Which of the following statements about 
European integration is not true?

 

(A) Austrian integration occurred as Cold War neutrality no 
longer needed

(B) Integration of Poland helped further tie Eastern Europe to 
the West

(C) Integration of Slovenia helped prevent further conflicts at 
the periphery of the EU

(D
)

Integration of Norway allowed the pooling of North Sea oil 
resources

Answer:
(D
)

Integration of Norway allowed the pooling of 
North Sea oil resources

4 European integration was: 

 
(A) Hampered by French nationalism in the 1960s

(B) Deepened with common foreign policy in the 1970s

(C) Assisted by greater democratic legitimacy of efficient 
European Parliament

Answer:
(A
)

Hampered by French nationalism in the 1960s
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(D
)

Hindered by German focus on reunification in 1990s

5 Early European integration compromises in the 
1950s included: 

 
(A) Germany renouncing agricultural protection

(B) Italy gaining controls on repatriation of profits

(C) France receiving trade privileges for French colonies

(D
)

Britain receiving banking concessions with free flow of 
capital

Answer:
(C
)

France receiving trade privileges for French 
colonies


